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1. It does this by taking in carbon dioxide and releasing oxygen. (6 marks)
2. Recently large areas of the Amazon rainforest have been cut down to make more land for farmers.
(6 marks)
3. farmers, ranchers, loggers and oil campanies (6 marks)

4. devastating (5 marks ) 5. releasing (5 marks)

6. It is home to at least 30 percent of the world’s animals and plants. / The area is the home of 220,000
people from about 180 different tribes who live deep in the forest. (6 marks)
7. Soya beans are turned to animal and human consumption. (6 marks)

12. spares cannot be carried ( 6 marks )
13. the death of everyone on board. ( 6 marks )

21. Where were you born?

22.How long have you lived there? (8 marks)

23.What did you enjoy? (8 marks)
. Any logical answer is accepted. (8 marks)

. I wish I could sing very well. (8 marks)

. Kangaroos are hunted (by people) for their meat and fur. (8 marks)

. Ahmad went to the airport in order to meet his brother. / In order to meet his brother, Ahmad went
to the airport. (8 marks)

. He might have lived with an English family/ have been living. (8 marks)

. second conditional (7 marks)
. present simple (7 marks)

. will meet, are meeting, are going to meet (6 marks) 35. would be (6 marks)
. takes (6 marks)
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(10 marks)

38. My sister has studied hard. She must get good grades in her exams. (8 marks)




